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	Q1: 2 points
In open addressing, collision can occur (in worst case)
· with identical elements only

· with elements that have the same hashvalue h(v) only

· with elements that have the same hashvalue H = ( h(v)  % (module) the table length)
· with any element in the hashtable

	

	Q2: 4 points
Consider the following set of doubles:

S = {2.999, 3.76, 1.111, 2.899, 0.14, 69.8, 24.0}

Given a hash function h: S-> N (=the integers):  h(s)=round(s) (for example: 3.141 => 3, 3.6 => 4) and a 7 element array A, where would the elements of S be placed in A, assuming they are added to A in the order given above (i.e. starting with 2.999) ? Please use linear probing for collision handling.
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How many collisions occurred during the insertion of 24.0 ?

___________ collisions
	

	Q3: 2 points
Which of the following is true?

· A binary search tree is always faster than a hash table to retrieve a data element
· A hash table is always faster than a binary search tree to retrieve a data element

· The performance for data retrieval depends on the content of the BST and Hashtable
· Not comparable, since binary search trees can only return the minimum


	

	Q4: 2 points

Given a hash table, implemented as an array, with n data elements in it. Which of the following is true?

· Traversing the hash table in increasing order returns the data elements in increased order
· Traversing the hash table in reverse order returns the data elements in increased order

· You cannot traverse a hash table

· Hash table traversal returns the data elements in no particularly significant order

	


Never forget your name.

